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A wire is stretched to double of its original length. The value of iis
resistivity becomes

1) 4 times ii) 8 times
iij) 16 times ' iv)  unchanged 1

The refracting angle of a prism of refractive index J3 is equal to its
angle of minimum deviation. The value of angle of minimum

“deviation is
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Write the expression and unit of magnetic dipole moment.

What are the microwaves ? State one use of them.
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Obtain the formula of the relationship of drift velocity and potential
difference. ' - 2

Find the ratio of de-Broglie wavelength associated with a pre
and an o-particle having same kinetic energy.
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What is displacement current ? A plane electro

25 MHz frequency is propagating along X-axis
-

electric field at any point in the vacuum is E4a ) |
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S. a) Derive the formula for the torque acting on a current carrying loop

in a uniform magnetic field and define the magnetic dipole moment
with the help of it. | 3

b) Find the magnitudes of currents i, i, and i with the help of the
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6. Obtain the formula for th;a intensity of electric field on the cquatorial
point of an electric dipole. | S
OR

What is Gauss’ law ? Find the formula for the intensity of clectri¢ field
produced due to a point change with the help of it. 5
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Explain cach of them with the help of an appropriate example. Why is in
both incidents the nuclear energy released ? S
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. Explain the differences between n-type and p-type semiconductors
7\ that both types of semiconductor are clectrically neutral.
[ OR

|

' Discuss the characteristics of (i) forward biasing and (ii) reverse
in p-n junction. Explain the cause of origin and direction of ct
both conditions.
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9. Explain the differcnces between n-type and p-type semiconductors. Show
that both types of semiconductor are clectrically neutral. S

OR

Discuss the characteristics of (i) forward biasing and (ii) reverse biasing
in p-n junction. Explain the cause of origin and direction of current in
both conditions. _ S
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